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SUBJECT — ENGLISH (50 MARKS)
SECTION - A (LITERATURE)

Rewrite each word with the given ending
Fill in the blanks with the given words
Word meanings

Make sentences

Answer these questions (Any 5)

SECTION - B (GRAMMAR)

Definition

(% x 5=2Y%)
(% x5=2Y%)
2x2=4)
(3x2=6)
(5x2=10)

2x2%=5)

a. Adjective with example

b. Masculine or Feminine gender with example

Replace the underlined nouns with nouns of the common gender using the given words.
Put apostrophes in the correct places and rewrite the phrases

Circle the subject and underline the predicate in the following sentences

Choose the correct demonstrative adjectives to complete the sentences

(Bx1=5)
Bx1=5)
(Bx1=5)
(Gx1=5)

SUBJECT — MATH (50 MARKS)
Multiple choice questions.
Fill in the blanks
Write True and False
Solve the Following
Solve the following

(12x1=12)
T7x1=17)
7x1=17)
“4x3=12)
4x3=12)
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SUBJECT — COMPUTER (50 MARKS)
Choose the correct option.
Fill in the blanks
Write True and False
Match the following
Write the missing letters
Re-arrange the letters

Answer the following questions in word form
Answer these questions (Any 4)
Draw the diagram (Any 1)

5x1=5)
Bx1=5)
Sx1=5)
5x1=5)
Sx1=5)
4x1=4)
Bx2=6)
4x3=12)
(1x3=3)




SUBJECT — SOCIAL STUDIES (50 MARKS)

Choose the correct option
Fill in the blanks

True and False

Give one word answer
Short answer question
Long answer question
Diagram

(10x1=10)
Bx1=5)
Bx1=5)
(5x2=10)
2x2=4)
“4x3=12)
(1x4=4)

SUBJECT - SCIENCE (50 MARKS)
Choose the correct option
Fill in the blanks
True and False
Give one word answer
Short answer question (Any 5)
Long answer question (Any 2)

Diagram

Bx1=5)
Bx1=5)
Bx1=5)
Bx1=5)
(5x3=15)
2x5=10)
(1x5=5)

SUBJECT — HINDI (50 MARKS)
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Bx1=3)
@x1=4)
(3x2=6)
(12x1=12)

(3x2=6)
9x1=9)
(1x5=5)
(1x5=5)




